Kiz Mobility
N

Catalyst 5 Tipping Lever

1 =5 -
e .______.-f"J 2 —"'
- '-"'-'-l
o~ L
ﬁ o : 'j
x?'\. :'h- -____-"J -___.-"J -_____-
lk"')lh“‘n Py ] x‘rﬁ %3”‘1
""-\-;‘_H I"‘h-""# .____.- -

Ty e \_ P oy H"\-\.
e = - *:.l_-!' e TR
(5) " e & Fra L R
e o [8) ~ -~
B, gt st q:w,-x.ﬁ e ~— Short Frame
ke é,—*'"# ™ Long Frame
I /
‘x_;f'ﬂ
Not available with Titanium frame
ltem Number  Part Number  Description Quantity
1-11 120806 Tipping Lever Assembly Cat 5 1
5-11 121375 Tipping Lever Tube Cat 5 1
1-4 120808 Tipping Lever Clamps with Hardware Cat 5 2
1 002541 Clamp 1.125 to .75 C'Bored 2
2 002542 Clamp 1.125 to .75 Threaded 2
3 100780 M6 x 25 SHCS zZC 4

08-06-2025



[tem Number  Part Number  Description Quantity
4 101835 M6 Lock Washer Blk Zn 4
6 119600 Tipping Lever, Tube, 1" OD 1
7 119601 Tipping Lever, Tube, .75" OD 1
8 100638 Tube End Plug 3/4" 1
9 101811 M6 x 35 BHCS BIk Zn 1
10 100658 M6 Nylock Nut Blk Zn 1
11 100746 M6 Flat Washer Blk Zn 2

08-06-2025




